S R =T =
AN = o N w

1000/0 2do)/d(m_1 + m_2) [1/GeV]
|_\
(@)

1073

1074

[EEY

Ratio to CMS

0.5

7000 GeV pp Z+Jet
I L B B i
= =5
= Jet mass (anti-k_(0.7), 2300<p_<450, |y|<2.5) 33
— 1=
== —©
— =
— 3 A
- al=)
I |
= =
— ()
B 4T
>
= EE
S =P
L -1 ™M
= _ |
= =M
= 948
L 1™
i
= =2
= m CMS "3z
— —%¥— Herwig 7.2.1 softTune 1=
= —A— Pythia 6.428 370 ==
~ —— Pythia 8.308 default 43
= =k
— o
— — O
_l | | | | | | | ' | | | | | | | |_ E
= | | -
— —2
%ﬁ?\ x\\'\/ 1
| —0.5
L. N M o
0 50 100 150

(m_ 1+m_2)/2[GeV]



	Contents
	Page 1


